

$$\bullet r \cos x + r' \sin x = 0 \Rightarrow r \cos x = -r' \sin x \quad (9)$$

$$\Rightarrow \cos x = -\frac{r'}{r} \sin x \xrightarrow{1 = \sin^2 x + \cos^2 x} \cos^2 x = \frac{r'^2}{r^2}, \sin^2 x = \frac{r^2}{r'^2}$$

$$\bullet \tan x + a \tan x = \frac{r}{\sin^2 x} \rightarrow \frac{1}{\sin x \cos x} = A, \quad (1) \Rightarrow A < 0$$

$$\Rightarrow \frac{1}{\sin x \cdot \cos x} = -\frac{\sqrt{r'} \cdot \sqrt{r}}{r' \cdot r} = \boxed{\frac{-1}{r}} \quad \checkmark$$

$$\frac{\sqrt{1 + \sin \delta}}{\sin \delta + \sin \epsilon} = \frac{\sqrt{r} \cos \epsilon}{\cos \epsilon + \sin \epsilon} = \cos(\epsilon + 1) + \sin \epsilon = \checkmark$$

$$\frac{1}{r} (r' \cos \epsilon + r' \sin \epsilon) = \frac{1}{r} (r' \sin(\epsilon + 1)) = r' \sin \epsilon$$

$$\Rightarrow \frac{r' \cos \epsilon}{r' \sin \epsilon} = \frac{r'}{r} \frac{\cos \epsilon}{\sin \epsilon} = \boxed{\frac{\sqrt{r}}{r}} \quad \checkmark$$

$$(\cos 1) (\cos \epsilon) (\cos \epsilon) = \cos 1 \cdot \cos^2 \epsilon \quad (1)$$

$$= \cos 1 \cdot \frac{1 + \cos 1}{r} = \cos 1 \cdot \frac{1 + \sin 1}{r} = \frac{\cos 1 + \cos 1 \sin 1}{r}$$

$$\bullet \sin x = r - r' \cos x \xrightarrow{\sin^2 x + \cos^2 x = 1} r^2 + r'^2 \cos^2 x - 1 r' \cos x + r'^2 = 1$$

$$10 r^2 \cos^2 x - 1 r' \cos x + r'^2 = 0$$

$$\bullet \partial \cos^2 x - 1 r' \cos x = 0 (r' \cos^2 x - 1) - 1 r' \cos x =$$

$$10 r^2 \cos^2 x - 1 r' \cos x - r' + r' = \boxed{-1} \quad \checkmark$$

$$\frac{\cos(B-C) - \cos(B+C)}{r} = \sin B \cdot \sin C \quad (10)$$

$$\cos(B-C) - \cos(B+C) = \cos^2 \frac{A}{r} \xrightarrow{B+C = 180^\circ - A} \cos(B+C) + \cos A = 1 + \cos A$$

$$1 + \cos A = \cos^2 \frac{A}{r}$$

$$\cos(B-C) = 1 \Rightarrow B-C=0 \xrightarrow{B=r} C=r \Rightarrow \boxed{A=r} \quad \checkmark$$

$$\sqrt{1+\sin\theta} = \sqrt{1+\cos\phi} \xrightarrow{\text{فرمولهای}} \sqrt{1+\cos\phi} = \sqrt{2\cos^2\frac{\phi}{2}} = \sqrt{2}\cos\frac{\phi}{2}$$

✓

$$\sin\theta + \sin\alpha = \sin(\theta + \alpha) + \sin(\theta - \alpha) =$$

$$\sin\theta\cos\alpha + \cancel{\sin\alpha\cos\theta} + \sin\theta\cos\alpha - \cancel{\sin\alpha\cos\theta} = 2\left(\frac{1}{2}\right)\cos\alpha = \cos\alpha$$

$$\frac{\sqrt{2}\cos\alpha}{\cos\alpha} = \boxed{\sqrt{2}}$$

$$\left. \begin{array}{l} 1 - \cos\theta = 2\sin^2\frac{\theta}{2} \\ \cos\theta - 1 = -2\sin^2\frac{\theta}{2} \end{array} \right\} \text{فرمولهای} \quad \frac{1 - \tan^2\frac{\theta}{2}}{1 + \tan^2\frac{\theta}{2}} = \frac{\cos^2\frac{\theta}{2} - \sin^2\frac{\theta}{2}}{\cos^2\frac{\theta}{2} + \sin^2\frac{\theta}{2}} = \cos\theta$$

سوال ۸

$$(\sin\theta) \cos\theta \times \cos\theta \times \cos\theta =$$

$$\frac{1}{2} \sin\theta \times \cos\theta \times \cos\theta =$$

$$\frac{1}{2} \times \frac{1}{2} \sin\theta \times \cos\theta =$$

$$\frac{1}{2} \times \frac{1}{2} \times \frac{1}{2} \sin\theta = \frac{\frac{1}{8} \sin\theta}{\sin\theta} = \frac{1}{8} \cos\theta$$

$$\frac{(\psi + \cos\theta)\sin\theta}{2(1 - \cos^2\theta)} = \frac{(\psi + \cos\theta)\cancel{\sin\theta}}{2\cancel{\sin\theta}} = \frac{\psi + \cos\theta}{2\sin\theta} < 0 \rightarrow \sin\theta < 0$$

✓

$$\sin\theta \times \frac{\sin\theta}{\cos\theta} - \frac{1}{\cos\theta} = \frac{-(1 - \sin^2\theta)}{\cos\theta} = \frac{-\cos^2\theta}{\cos\theta} > 0 \rightarrow \cos\theta < 0$$

اینکس و در این صورت مقادیر است